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BSWE-002 : SOCIAL WORK INTERVENTION WITH 

INDIVIDUALS AND GROUPS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all the five questions. All questions carry 

equal marks. Answer to questions no. 1 and 2 

should not exceed 500 words each. 

1. Discuss the relevance of social work methods in 
Indian context. 	 20 

OR 

What is underdevelopment ? Describe the 
Gandhian approach to development. 	 20 

2. Define interviewing. Explain various 
interviewing skills. 	 20 

OR 

Discuss some critical areas of concern regarding 
women in social work. 	 20 
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3. Answer any two of the following questions in 

about 250 words each : 

(a) Why is it important to teach gender to 

students of social work ? 	 10 

(b) What is the role of social worker in Criminal 

Justice ? 	 10 

(c) What was the landmark in the historical 
development of Industrial Social Work in 

India ? 
	

10 

(d) Discuss the problems in a Tribal 
Community. 	 10 

4. Answer any four of the following questions in 

about 150 words each : 

(a) Discuss the relation between economic 

growth and social development. 	 5 

(b) Discuss models of social policy. 

(c) What is FIR ? 
	

5 

(d) Write a brief note on human development in 

India. 	 5 

(e) Enumerate the features of Rural Community. 5 

(f) Discuss the skills of Interviewing in social 

case work. 
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5. Write short notes on any five of the following in 

about 100 words each : 

(a) 3E's of welfare state 	 4 

(b) Socialism 	 4 

(c) Market economy 	 4 

(d) National Development Council 	 4 

(e) HDI Measurement 	 4 

(f) Three perspectives of poverty 	 4 

(g) PIL 	 4 

(h) Marital counselling 	 4 
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